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[root@db1 /]# fdisk I (Y

Disk /dev/sda: 10.7 GB, 10737418240 bytes I

255 heads, 63 sectors/track, 1305 cylinders . | R RXE i

Units = cylinders of 16065 * 512 = 8225280 bytes (Oracle ¥R Es 5152 5 A
Device Boot Start End Blocks Id System FHY BFLRET

/dev/sdal * 151 1305 9277537+ 83 Linux Linux Context , Interrupts &1 Cor

/dev/sda2 1 150 1204843+ 82 Linux swap witching B8

Partition table entries are not in disk order

win7 #&ZIwin10 EEEIN
Disk /dev/sdb: 5368 MB, 5368709120 bytes

255 heads, 63 sectors/track, 652 cylinders AMAE S AR L RATEI B A5t
?
Units = cylinders of 16065 * 512 = 8225280 bytes 7
Device Boot  Start End  Blocks Id System [AFREMHS RAM NAND NOR
15%8A
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2. Ffdisk 33/dev/sdb #{TFHX | XEH%

Dave BEZE
[root@db1 /J# fdisk /dev/sdb My Blog Summary
Command (m for help): n

Oracle Troubleshootin
Command action 9

e extended Tools & Scripts
p primary partition (1-4) IBM AIX
i Linux

Partition number (1-4): 1 BF v
First cylinder (1-652, default 1):

Using default value 1

Last cylinder or +size or +sizeM or +sizeK (1-652, default 652):
Using default value 652 oracle’® I EUFERR IR,
Command (m for help): w

The partition table has been altered!
Oracle Data Guard

i

Calling ioctl() to re-read partition table.
Syncing disks.

oracleEMFIIRAZE
BREEDXIER, SZHR—D/dev/sdbl X, XMBENEREEEN, MREIIEE2, MEK sdb27,

[root@db1 /J# fdisk - BA v

Disk /dev/sda: 10.7 GB, 10737418240 bytes

255 heads, 63 sectors/track, 1305 cylinders I XEF

Units = cylinders of 16065 * 512 = 8225280 bytes 20185 1H
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/dev/sda2 1 150 1204843+ 82 Linux swap

Partition table entries are not in disk order

Disk /dev/sdb: 5368 MB, 5368709120 bytes
255 heads, 63 sectors/track, 652 cylinders
Units = cylinders of 16065 * 512 = 8225280 bytes

Device Boot Start End Blocks Id System 0
/dev/sdb1 1 652 5237158+ 83 Linux m
[root@db1 /1#

MROIETRZ/E, /proc/partitions EEAREINMH X, {EMparprobe &<k -~ FRBEIAT :
[root@web1 ~]J# cat /proc/partitions
major minor #blocks name

8 0 175825944 sda

8 1 1020096 sdal

8 2 30716280 sda2

8 3 8193150 sda3
[root@web1 ~]# partprobe /dev/sda
[root@web1 ~]# cat /proc/partitions

major minor #blocks name

8 0 175825944 sda
8 1 1020096 sdat
8 2 30716280 sda2
8 3 8193150 sda3
8 4 135893835 sda4

[root@web1 ~]#
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UUID=f5c84165-6890-470f-b731-deb4c85922a2 / ext4 errors=remount-ro 0 1
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